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int addition (int a, int b)

P 1

z = addition ( 5 , 3 )




// function example
#include <iostream>
using namespace std;

int subtraction (int a, int b)
{
int r;
r=a-b;
return (r);
}
int main ()
{
int x=5, y=3, z;
z = subtraction (7,2);
cout << "The first result is
cout << "The second result is
cout << "The third result 1is
z= 4 + subtraction (x,Vy):;
cout << "The fourth result is

return 0;

" << z << '"\n';
" << subtraction (7,2) << '\n':
" << subtraction (x,y) << '\n';

" << oz <<

!'\n!;

The
The
The
The

first result is 5
second result 1s 5
third result 1s 2
fourth result 1s 6




vold deeper|()

o0 .J L] J L]
cout << "I am now inside the function deeper.‘\n"; 9)}39) CS) 93' }9

-

}
vold deep()

cout << "I am now inside the function deep.\n";
deeper{)s // Call function deeper
cout << "Now I am back in deep.'n":
} I am starting in function main.
I am now inside the function deep.
int main() I am now inside the function deeper.

Mow I am back in deep.

e L ac k. in function main again.
4 L L Ll A1l kA Bl L] i 251 . 31l —

deep()s // Call function deep

cout << "Back in function main again.\n";

return 0;

void deeper() { <€
cout<<*“l am now inside the function deeper.\n”;

}
3 void deep() {

cout<<“l am now inside the function deep.\n”;
deeoer();
cout<<“Now | am back in deep.\n” <

}

int main() {
cout<<"| am starting in function main.\n”;
deep();
cout<<“Back in function main again.\n"; o
return O;

}
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int max(int x,int vy)
[ // returns larger of the two given integers:
if (= < y) return vy

else return Xx: adls (sly cuvlbreak siite @0 ¢slpreturn

' _ oL @G jlawpreturn a gloj jo iy
int main() cwl @G HOU )5 @8lgs pdw )5 as 15 .3¢0
{f // tests the max({) function: & = F . .. o

nt mon AW silgTg o Wi )5 (sl)o )5 Lol

o

cout<<"Enter 2 number (0 for guit):":;

cin >> m >> n;

cout << "\tmax(" << m << "," €< n << ") = " << max(m,n) << endl;
¥
while (m '= 0);

numbher (B for guit>:6 7
max{h,?>» = 7
number B for guit>:-89 4

max{8?.4> = §9
numbher (B for guit>:H 4
maxtH,.4>» = 4
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Function prototypes are also known as function declarations.

(function definition) b @G sy Osls Hyd —
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#$¥include <iostream> ‘ IS
n=ing namespace =td;

int =ub {(int a,int b)
{

int =;

z=a-b;

return z; .

int main ()

{
int x=10, vw=3:
cout << X<<"-"Joy<o"="womnb (X, vi<< endl;
return 0;

H

[
#include <iostream>

nsing namespace =std:

int sub (int ,inED

imt mainm [)

{
int x=10, v=3;
cout =< X"y "="IaOsub (X, Vi< endl;
return O
¥
inmt =ub [(int a,int k)
i
int =;
z=a—-kb;

returm =:
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$include <iostream>
using namespace std;

I am passing 5 to displaylUalue.
The value is 5

vold displayValue (int) ;
int main/()

cout << "I am passing 5 to displavValue.'\n";
displayvValue (5) ; &
cout << "Now I am back in main.\n":;

return 0;

}

vold displayValue (Int num) ¢

cout << "The walue iz " << num << endl:;
¥
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.J;}.Scyoj)ﬁip J) num
displayValue(5) ; // function call
b &’B
void displayValue(int num) // function header |[?
{ e

cout < "The value is " << num << endl; W
}
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Finclude <ilo=tream>

using namespace std;

int power (int ,int ):
] int main()

{ 1nt a,p-

count<<"enter two number:";
cin>> a >> p»

cout <<"a"p=" «<<power(a,p)<<endl;
- ¥
] int power (int k,int 1)

enter
a“p=32

int 1,n=1;
for{i=l;i<=1;1i++)
n=n¥%*k;
return n;
- ¥

Jio =

two number:
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long fact(int n)

{ // returns n! = n*(n-1)*(n-2)*...%*(2) (1)
if (n < 0) return 0;

int £ = 1;

while (n > 1) H11 206 24

f Y= p—3

int main ()
{ // tests the factorial() function:
for (int i=-1; i < 6; 1i++)

cout << " " << fact(i):; 3
cout << endl;
}
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P(ﬂ, k) = n—' long fact (int n})
(n—k)! { // returns n! = n*(n-1)*(m-2)*...*(2) (1)
if (n « 0) retorn 07
int £ = 1;
P(5,2) = o AU 20 while (o > 1)
(5-2) 3! 6 £ b ps
return £
| long perm(int n,int k) ¥
{ // returns P(n,k), the number of permutations of k from n: 7
if (n <0 |]] X< 0 || k> n) return 0; ‘

return fact(n)/fact (n-k):

- }

int main{)
a0 {f /f tests the perm{) funcrion:
18 for (int i = -17 1 <€ 87 i)
A1
A2 {
E 1 ?1 for {(int j=-1; j <= i+l; j++)
15 20 68 128 128 @ rmm e
@16 30 120 368 720 720 O =Eols Al << perm(i,]);
A1 7 42 218 848 2520 A48 5040 @ cout << endl;

} 1€
¥
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Hinclude <iostreams
u=ing namespace s3td;
]int mainl)
{
double nuw=0.1;
while [ (num+=0.1) '=1)
{

nuro+=0.1;
'

COUC<-<——1um;
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